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General Instructions :
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(i)
(it)

(iii)

(iv)

v)

(vi)

(vii)

All questions are compulsory.

Questions number 1 — 5 are of one mark each. The answers to these questions

should not exceed 20 words each.

Questions number 6 — 10 are of two marks each. The answers to these questions

should not exceed 40 words each.

Questions number 11 — 16 are of four marks each. The answers to these questions

should not exceed 100 words each.

Questions number 17 — 21 are of five marks each. The answers to these questions

should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your answer-
book.

Questions number 22 — 27 are of six marks each. The answers to these questions

should not exceed 150 words each.
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1. o dF § gu ot Wi 1 afmma g 2 1

What does hide strategy imply within the hegemonic system ?

2. AT o THA, HIUH U bl Teh TaUT TS T34 &1 hal T ? 1

By the time of Independence, why was the Congress Party called a ‘rainbow-like’
social coalition ?

3. sfaem <l aad s TS 9’ foh et T ¢ 1

What was called ‘the largest garage sale’ in history ?

4. 1960 % qureh H, 3Tdient 3R Wfcerd T9 | S & g wewryul iR 7 gwdeR g ? 2 x =1

In the decade of 1960s, which two significant agreements were signed by the US and

the USSR ?

5. THER JocTvYTE 9ed o YATHI & YR 99 H Ta1ei o1 et il g ? 1
How were the princely states integrated into Indian Union with the efforts of Sardar
Vallabhbhai Patel ?

6.  STVETE 3R IRl % T 3T P T HIfT | 1+1=2

Differentiate between a migrant and a refugee.

7. Toemrasfict <ot ol AT TIeiehict ohl STEAATST & U<h 91 T@T 731 o7 7 2

Why were developing countries exempted from the requirements of the Kyoto
Protocol ?
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8. W 3R UTfhEIH o &1 1965 H G &H o T&T HRUT i IAFR HIfT | 2
Highlight the main reason behind Indo-Pakistan War of 1965.

9.  ‘IMH Aeht’ 1 37 TE HifT | 2
Explain the meaning of the ‘ASEAN way’.

10. ST g0 AL o H1eAH O &9 TeyT ol THTH i o his &l 3@ fafEgu | 2 x 1=2

Write any two examples of ending regional conflicts through mediation by the
ASEAN.

11. T3S T % S IAThat TsiiTeh getl o s I Hghfd o fohral IR el o1 avi
HIT | 4

Describe any four issues on which a broad consensus has emerged among most

political parties of India during the coalition era.

12. TGA YR  9gcl diF 3T ATl |, SHEE o T o {70 ITERA R 1 foageryor
HITT | 4

Analyse the factors responsible for the Congress dominance in the first three general

elections in free India.

13, STETEl AT 6% <h Tog o §1G USHITeh ITUTIHR h! AT hl TI&T0T HITT | 4

Examine the challenge of political succession after the death of Jawahar Lal Nehru.

14. 1975 5 THT 3TITAhIcT Shl ETUTT i o BLhT g TeU 7T HIoT o1 forgermor Hifsw | 4

Analyse the reasons given by the Government for declaring a National Emergency in
1975.

15. 1995 ¥ 9RA A WHT]-JTER i (.98, o1 Affvea we & fow sen &1 fotig
i feram 7 4

Why did India oppose the indefinite extension of the Non-Proliferation Treaty (NPT)
in 1995 ?
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16. el wifth Bl TohTcHe dic F1 Hal AT & 7 T il JUITeA] shl THTH o ST =T A1
& ? 37T I b & H U b ST | 2+2=4

Why is Veto power called a negative vote ? Should the Veto system be abolished or
not ? Support your answer with suitable argument.

17.  “3ATATdehTel 3R $Heh STEUTE <l 3G i g1 Tk Hehe hi A o &9 4§ off ¢&
Tehd & Al HTUBI & 1 TToh ST LTk T HATITAHTSA o Hel H T | gL T
IZ TSIk Eohe o HT QR o1 | Fmemt urdl o aT] ot sigaa ot | FoRt off, 6o Aqca A
TIhAa I 3 A 1 Hoer R | WS Ffaem o Fmfarsti @i fovam on 6 ot
T € TARdiTeh W 1 TTeH Hal | 3= I8 ot fovar o fo smamaswre i
feurfa o oft IR 3Tot Sremaer wifr b1 seauTer fafer o SmEe % gRR § Ed g E
Haf |7

FHR Teu 7T ST T S ST Hifore qeun i fou T et % I fofa

(i) AT T, TR o T g 31T & off=r o1 ?

(i) 1975 T SATUTAHTA SN HL S IS Gl HRUT T HITT |

(iii) ATITATS 5 SR 3 fohgl QI SATGITAI sl AT HIFIT | 5

Study the passage given below carefully and answer the questions that follow :

“The Emergency and the period around it can be described as a period of
constitutional crisis because it had its origins in the constitutional battle. On the other
hand, it was also a period of political crisis. The party in power had absolute majority
and yet, its leadership decided to suspend the democratic process. The makers of
India’s Constitution trusted that all political parties would basically abide by the
democratic norm. Even during the Emergency, when the government would use

extraordinary powers, its use would be within the norms of the rule of law.”

(i) The constitutional battle was drawn between which two organs of the

government ?
(i1)) Explain any two reasons that led to the imposition of emergency in 1975.

(i11)) Highlight any two excesses that took place during emergency.
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18.  “forepr@ = ST g IH-AM uied 9, YA 3 370 & forelt bl &l S | YSfiand) uiew o
forehTE %1 19 BIAT 2 | WA = I8 TEAT T2l STURT | AR A ferehrat st Aursrare} urget ot
TEI TR | 37 g1 &) Aised hl B Tk §Tdi bl o foran T 3R 3 39§ 3 -t
9 H AT foram TR | E HROT IR Sreieewen @i THiya - srefereaer En S # |
We-TorgT1, SR 37 3T T Teh ST W STt &1 o 212 | &M | T o 39 g1 |
I I I T@T 3T 3T MU Sr<1 JGH fohall | TsF = SR 1 e fomam 3R
T < & H TS 5 T U 17

FHR feu T SraaEr i ermyde ufen aun frefeRad yeEt o I T
(i) ToohrE o ISTaTEH Hige shi 9T i TIE HIT |
(i) TorehTE & TUTSETC) A 6t g foeiwar i AR I |

(ili) WRA G O T fe-Fot Aied 61 AAreq1 % foheal oA feigai sl =
Hifer | 1+1+3=5

Study the following passage carefully and answer the questions that follow :

“India did not follow any of the two known paths to development — it did not
accept the capitalist model of development, nor did it follow the socialist model.
Elements from both these models were taken and mixed together in India. That is
why it was described as ‘mixed economy’. Much of the agriculture, trade and
industry were left in private hands. The state controlled key heavy industries,
provided industrial infrastructure, regulated trade and made some crucial
interventions in agriculture.”

(1)  Explain the concept of the capitalist model of development.
(i) Highlight the main feature of the socialist model.

(i11)) Explain any three points of criticism against the mixed model adopted by India.

19. = e U ST ST SHYEeh TR iU TR 36 T METRa T o I foaRaw :

“uard <t e~ fderar <l ifd 7 @ Terrreaes oft 3 7 & ik i | ura haggeeta
gfegfear <t STehg 1 Siefl HH & TIT SAAUF Amel T Tisha T W S8 i & 9 1
o1 | B el % Ha H, - Fdemar SIS var siaigia e snew Td S Wi % aredfeeh
Tl & Tt T @t | = Al IR @ T e -fter gfsnio 3 w5 @il & wid ot fea wen @ |
SEL 3R, WA hl Te—TTerdm 6t ifet 6l et ff % MR WA W 1" 1+2+2=5

(i) gt sfekEl & o= fedh e W god %1 Seem e st e 3
HETEAAT SHlch g Hi TTel bl I17d FRT 2T |

(ii) Te-TFruer = fopd g1 alieh] & WRAT fadi sl qan g ?
(iii) R 1 Te-Teran st fifd & foreg ST o Rl g1 feigaTl H1 IR HIT |

59/3 6 C1



Read the following passage carefully and answer the questions that follow :

“India’s policy of non-alignment was neither negative nor passive. India was in
favour of actively intervening in world affairs to soften Cold War rivalries. Non-
alignment was not, as some suggest, a noble international cause, which had little to
do with India’s real interests. In fact, a non-aligned posture served India’s interests in
many ways. On the other hand, India’s policy of non-alignment was criticized also on
a number of counts.”

(i) Give any one example of a conflict between the Cold War rivals where India
mediated to soften the warring factions.

(i1)) In which two ways did Non-alignment serve India’s interest ?

(i11)) Highlight any two points of criticism against the India’s policy of non-
alignment.

20.

ARES,

Wwww caglecartoons com

FR Teu MU HIEA 1 g e hHifre qen frafafad sei b s fafau: 1+2+2=5

(%) wEar sfers &fe fora oo 1 fafafr sxar 2 2
(@) 3Teh! 9df W fafir <omi < ford guAmi w1 R AT B 7
(1) 39 HIeA U HIF A1 HEwqUl Hev T w1 2 7
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Study the cartoon given below carefully and answer the questions that follow :

(a) The mighty soldier with a weapon represents which country ?

(b) What is the significance of the names of various countries written on his
uniform ?

(c) What important message does the cartoon convey ?

e : Tfafaa wom e gidanfea et o foTe o7 @ 20 F WH R

20.1 ‘=’ <t gieamn faRe |

20.2 &= SEET TUT e doedl H 3T T8 HIT |

20.3 3THLeh! SEa <h foheal g1 sl sl T8 HifT | 1+2+2=5

Note : The following questions are for the visually impaired candidates only in lieu
of Q. No. 20 :

20.1 Define ‘hegemony’.

20.2 Differentiate between the hegemony of hard power and hegemony of soft
power.

20.3 Explain any two constraints on the American hegemony.
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21.

59/3

B

feu oy % TeAfaes w@-wHteE # 9l 79 (), B), (©), (D) 7@ (B) g1 g9t ™
& | 37 meft T o mior 1956 % uvETq g3 | = @ T AR S wErEt &, 39 U
! TESTHT qAT 37 HaT 719, TINT bl T8 STHehR] bl shH HEAT AT Teferd &R i, {0
@ 7TE qTfoteht o €9 T 379 IR gfecent ¥ foiRaw :

TR <h TS SRR Tafrd 38R TS &1 91
= Al T
(i)

(ii)

(iif)

(iv)

)

() TETSTIY 1966 | & |

(i) SHUST DI a¥ 1987 T SR 74T |
(iii) I8 TST 9 1960 H ST 74T |
(iv) I8 TST 99 2000 | ATEdea T 37T |
(v) SHTST DY 1972 T SR T4 |

C1
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In the given outline political map of India, five states have been marked as @, ,

@, @ and @ All these states were created after 1956. Identify them with the help

of the information given below and write their correct names in your answer book
along with the serial number of the information used and the concerned alphabet
shown in the map as per the following table :

Sr. No. of the Alphabet concerned Name of the State
information used
(1)

(ii)
(111)
(iv)
)
(1)  The state came into existence in the year 1966.
(1i1)) The state was created in the year 1987.
(ii1)) The state was created in the year 1960.
(iv) The state came into being in the year 2000.
(v) The state was created in the year 1972.

10
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e ; Frfefad o ot giEaTia wiefeR @ fore Jo T@n 21 F _E W E

21.1 TST QT SRR SAfufem e aiied g3t ?

21.2 1956 H TST YIS 3TN gRT fohae Tt qer fepaat Shg Smfdra wewmt o1 T+ fopam
™ 7

21.3 IqHH H, YA § ferd T= qe ferd g snfed wewr 8 7 1+2+2=5

Note : The following questions are for the Visually Impaired Candidates only in
lieu of Q. No. 21.

21.1 When was the States Reorganisation Act passed ?

21.2 How many States and the Union Territories were created by the States
Reorganisation Commission in 1956 ?

21.3 How many States and the Union Territories are there in India at present ?

22. I G o fehedl oA @l qe o gif bt et hife | 3+3=6
3T
el A o foeg 3Em | 1979 W 1985 T U Mgl hi feheal =R farrwarati w1 aui
T |

Describe any three advantages and three disadvantages of popular movements.

OR
Describe any four features of movement in Assam against outsiders from 1979 to
1985.

23.  oteRur et} foregl i AEeT T WA o 987 kT fogeiwor HifSu | 3x2=6
3
Ayefiertr o Totiferes Tiorm w1 fergeiwor Shifsra | 6

Analyse India’s stand on any three environmental issues.
OR
Analyse political consequences of globalization.

24, “Hifedrd w9 % foered @ qvETd, AT <3l § | ®E b "1, YA o T9Y qe8 qoeqd
W®WE | BIE i 3eTE0T ¢oht o 6t gfE i | 3x2=6
YAl
9 AL Mffeh aeAT (TH.37E.3.371.) <l 9RO 1 97 HY g3 7 1972 H 37e9
fopfira <uni bt @9 gEH % fow, Siere (Fu.EH AT ElL) g ®F ¥ W) guR
T foh T ?
“Among the post-Communist countries after the disintegration of the Soviet Union,
India’s relations with Russia have been the strongest.” Support the statement with any
three examples.
OR
How did the idea of a New International Economic Order (N.LE.O) originate ? In

1972, which four reforms were proposed by UNCTAD to benefit the Least
Developed Countries’ (LDCs).
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25. < ! s Tif @ gfg S areht reiereaen sHM % foT =9 % Aqcd g 3eTe T feRed
IR HeH! ol U HIfT | 6
37T
IR 3R urferar = s ferame o fepeal =R e st @l i |

Describe any four steps taken by Chinese leadership to make it a fastest growing
economy.

OR

Describe any four issues of conflict between India and Pakistan.

26. 1989 % UTETd, YR TSHIT § 1T fohegl wR G Searrall o1 faveur Hife | 4x 1% =6

YT
1985 ¥ gT, Tsfa e -Ariarer a9gid o G TaeHi o1 wieqor Hife | oo § st
FETeAt & foTT I8 THSHIAT el o Tl 53T ? TIE HIFT | 4+2=6
Analyse any four major developments in Indian politics after 1989.

OR

Examine the main provisions of the Rajiv Gandhi-Longowal Accord of 1985. How
far was the Accord successful in bringing back normalcy in Punjab ? Explain.

27. 1997 o §1E G TY o FGHIT gRI GLEIT THTE 1 TATRM 7T STEARN He& 4 o o
TEATIId fohegl ©: THGUEl bl TIE HITT | 3+3=6
e
T < ITURITEh TRON % Sl HIardT shi GaT qer Afvass guer st Sxmen i |

Explain any six points of new criteria for becoming a permanent or Non-permanent
member of Securing Council as proposed by members of UN since 1997.

OR
Explain non-traditional notions of human security and the global security.
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